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- O (300) - NSAE - B S Of &t il 2
S UENEE NEENEsE=A0 SAd
7,000,000& = 14 7,000
o UHEMHEE Xdt+=8Z S 2l (20HP)
1,250,000& = 2CH 2,500
o QEUEN FE4ME AEUD L Y
s X HA 80,000& = 50m 4,000
o HEHEHE FE= 2X&H EZRAESCOA
Qae3a 7,200,000& = 13l 7,200
o SHHEH &= 2K Ml 4l A=
2l 5,000,000& * 20 10,000
o MHEEE MIIHU(FYAAH) A2
el ¥ E= 4,800,000& = 24| 9,600
o HSHHER =T =<4 £ A WA
5,500,000& = 2CH 11,000
o BENEE HES HAUBH U FHAN
ANEEH =& KA 22/2,900,000& = 14! 2,900
o YWAFH =4 200,000& = 10CH 2,000
o g - BEEg ZAH € Y449 s z=21
g }RF 135,435,000& * 14! 135,435
o g - BEg &Y ¥ Y44Y9x s s
=N 34,000,000& * 14 34,000
o BENYE HPANAY SN 24
7,000,000& = 104 7,000
o GEMHEE MEALE FX2cl
500,000& * 2CH 1,000
o AUWMHEE =M € =&H =X =
500,000& * 14 500
o FUHMEE &J14a & ZHEI| KA &2
2,000,000& = 14| 2,000
o EUMEHE d&E+ MFIZANEE2 2R
3,000,000 = 14| 3,000
o FUHMEE 82X | &2
500,000& * 14 500
o FUHEE &&=+ 015HIZ(20H) =X
22| ,500,000& * 14 4,500
202 od4dl 6,460 6,715 A 255
01 =2LHA Y] 6,460 6,715 A 255
O 38l gHS &4
85,000& = 298 = 2 « 13| 340
O &&= =Z23A 23
85,000& = 1¥ * 1 = 123 1,020
O AMNYE SHUH V243
5,000& » 298 = 3 « 23| 1,020
SE-ELRSEYE
85,000& = 29 = 3 « 53| 2,550
O QuARABAY AL

85,000% = 22 » 12 « 33
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AN MEXR D
M oiEGiD IHE MBXR Ol AH(BALS/HIIE)
SRl HEE XM Y HEE oFBL CER-ED
2 S 4
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
101 14 Hl 47,298 38,815 8,483
04 JIZHHZ22XREES 47,298 38,815 8,483
O Hgd 240 g2y 11,578
o gtg 48,2403 * 5% * 202 * 23| 9,648
o U 48,2403 * 4% * 52 x 23| 1,930
O BEHYY FHISXY LALS o2y 29,958
o ME, NE, ZE, BHE, QS
48,2403 5% * 52 * 23 27,738
o s 48,240 « 1H * 2 * 23=F 2,220
O MEEE 3,591,000& = 14 3,591
O BUNHEZE =7 2 s2elAds 40
£ 48,2403 * 3% * 52 33 2,171
CHEHE E MY &X 100,000 0 100,000
401 Al BIZ 201 8] 100,000 0 100,000
01 A& HI 99,100 0 99,100
O BHEEE Mg &X
100,000,000 * 99.10/100 99,100
03 AlE =TI 900 0 900
O HEEE e &X
100,000,000& * 0.90/100 900
CHSMHEHE =2 AId & B 150,000 100,000 50,000
401 Al Bl 2B 150,000 100,000 50,000
01 A& HI 148,920 99,100 49,820
O BEHEY 42 AL 2 24
150,000,000 * 99.28/100 148,920
03 A& =TI 1,080 900 180
O BEHEY 42 AL 2 24
150,000,000 * 0.72/100 1,080
CHESMEd &+ MelAd 838 & &l 20,000 20,000 0
401 Al B2 28I 20,000 20,000 0
01 A& HI 19,784 19,784 0
O UHSHHEd 82 HaAd 84 2 &l
20,000,000% * 98.92/100 19,784
03 Al S THHI 216 216 0
O HEMEE 854 HelAla B2 2 Fuyl
20,000,000& * 1.08/100 216
FUHMEEINAZE 2 XS A 50,000 0 50,000
401 Al&HI & 28I 50,000 0 50,000
01 A& HI 49,460 0 49,460
O UHHEH JtAZEZ AX 2A
50,000,000 = 98.92/100 49,460
03 AIE 2 0HHI 540 0 540




SAN: ME XA D
M obMolD DESH MEXA J|E RF(BAHAES/HIIS)
SRl HEN X4 L HEN oFBe o HE)
= - 4 14
M- o9 (B H) - MEAY - BAS %Ei HR=2
O EUHEZE JtAZE 2 AX Z2A
50,000,000& = 1.08/100 540
S AAY| (MEXK D) (I EH/IIE 300,014 295,857 4,157
S| 94,290 85,937 8,353
A 2AH| 94,290 85,937 8,353
101 e1214| 94,290 85,937 8,353
01 E% 31,239 32,818 AN 1,579
O g® 22 & SEHH Y U222 31,239
o 62 83,043 x 38 » 20¢ 4,983
o 73 75,012& ~ 7 x 20& 10,502
o 82 67,3423 x 18 » 20¢ 1,347
o 72 (&Hl) 75,012& ~ 1 x 52 3,901
o 82 (&HI|) 67,342& x 3H x 52 10,506
02 JIEtE 2 % 42,469 34,632 7,837
O HRAFE orA2R4Y 17,208
o AAH(BHE)
3,099 * 1% « BAl2F = 3652 * 1/3 3,017
o A (prE)
2,864 x 1 « BAI2F » 365& * 1/3 2,788
o &= (2E)
2,661 = 1% « 8BAl2F » 3652 * 1/3 2,591
o AL(EUW)
3,387 x 1 « BAI2F » 365 * 1/2 4,946
o =Z(EW)
2,661 = 1% « BAI2F » 3658 * 1/2 3,886
O HAAE ANAATS2Y 202 15,848
o &4 10,161& * 1 = 30AI2t = 128 3,658
o AA 9,298& * 1¥H = 30Al2t ~ 128 3,348
o A 8,591& * 1H = 30AI2t = 128 3,093
o =34 7,984% * 2 x 30Al2t * 12&8 5,749
O Z3ZE 5Ya2+g 9,393
o AA(BHE) 74,7459 « 1H » 662 * 1/3 1,645
o HZ(BHE) 69,0562 * 1H » 662 = 1/3 1,520
o =A(BtE) 64,1822 * 1H » 662 * 1/3 1,413
o ZA(EUW) 81,6758 * 19¥ » 66 = 1/2 2,696
o =A(2UW) 64,1828 * 1H » 66 * 1/2 2,119
03 2IAHALZZHE = 20,582 18,487 2,095
O sed22x 9,534
o MUTRAY, £+42HL
136,680 * 2% * 24¢ 6,561
o HELHeld 22
123,840 * 1 x 24¢ 2,973
O A2t z222¢ 11,048




A MEX D
Mz HMSAHH (ME X2 ) (IIEHIIE
Sel: o2y (B9 ®R)
5 - 4
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2
o doceaidd ramdrd
11,3008 » 228 x 12A12F = 12&€ * 150% 4,921
o FELHeld 22
10,3202 » 1€ = 12A12F = 128 * 150% 2,230
o AL
9,020 * 2% * 12A12F x 128 * 150% 3,897
JlE&dl 205,724 209,920 N4 ,196
Jl2AH| 205,724 209,920 N4 ,196
201 et 189,605 193,174 N 3,569
01 AFR 2t 2| bl 67,810 71,379 N 3,569
O =2 SHH A 16, 174,000& * 14 16,174
O 2g9axg WY & 31,000,000 = 14! 31,000
O LS H A A 3,000,000& = 1A 3,000
O SH SHAN 17,636,000 = 14! 17,636
02 232 4| 121,795 121,795 0
O 2222 2 HAH SHHA
115,455,000 = 14! 115,455
O HAEHl sSHH A 6,340,000& = 1A 6,340
202 o4 | 11,919 12,546 NB27
01 2L HI 11,919 12,546 NB27
O ZUH0H =HH A 11,919,000& = 14 11,919
203 € R F=&d| 4,200 4,200 0
04 EASHEIRFEH| 4,200 4,200 0
O M (H2A16Y) 350,000& * 12& 4,200
HEeSS(MEXNFN)(BFEES/HIIZ) 161,300 287,500 N 126,200
HEAHH XK= 161,300 144,500 16,800
LHEHCH K= 161,300 144,500 16,800
702 1282 161,300 144,500 16,800
MosEE2 161,300 144,500 16,800
O CENEETHIES G0N 2 &2 161,300
o HIlE BasR
21,000 = 53,000& = 10/100 111,300
o EYIE NE3 50,000,000 * 14! 50,000




